

ARKANSAS STATE UNIVERSITY SYSTEM

Equity in Athletics Disclosure Act Survey

Academic Year 2021

Prepared by: Institutional Research Office Effective October 15, 2021

Full-time University Undergraduate Enrollment Fall 2020

Gender	Number	Percentage
Male Students	1031	44%
Female Students	1303	56%
Totals	2334	100%

Athletic Participation at Henderson State University Academic Year 2021

	Number of	Participants	Number of Participants Participating on a Second Team		
Sport	Men's Teams	Women's Teams Men's Teams		Women's Teams	
Baseball	55				
Basketball	15	13			
Cross Country		9			
Football	118				
Golf	13	9			
Softball		28			
Swimming	27	15			
Tennis		9		4	
Volleyball		28			
Total Participants	228	111	0	4	
UNDUPLICATED	228	107			

Head Coaches Assignments (Men's and Women's Teams) Academic Year 2021

		Male Head Coach				Female Head Coach				
Sport	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Total Head Coaches	
				Men's Tea	ims					
Baseball		1	1						1	
Basketball		1	1						1	
Football		1	1						1	
Golf		1	1						1	
Swimming		1	1						1	
Coaching Position Totals	0	5	5	0	0	0	0	0	5	
			v	/omen's T	eams					
Basketball						1	1		1	
Cross Country						1	1		1	
Golf		1	1						1	
Softball		1	1						1	
Swimming		1	1						1	
Tennis						1	1		1	
Volleyball		1	1						1	
Coaching Position Totals	0	4	4	0	0	3	3	0	7	

Caveat Golf Coach - coaching both men's and women's teams. Swimming Coach - coaching both men's and women's teams. Women's Cross Country and Women's Tennis are coached by the same person.

Assistant Coaches Assignments (Men's and Women's Teams) Academic Year 2021

		Male Assistant Coaches				Female Assistant Coaches			
Sport	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Total Assistant Coaches
				Men's Tea	ms				
Baseball		1	1						1
Basketball		1	1						1
Football		7	6	1					7
Golf									0
Swimming		1	1						1
Coaching Position Totals	0	10	9	1	0	0	0	0	10
			W	/omen's Te	eams				
Basketball		1	1						1
Cross Country									0
Golf						1	1		1
Softball						1	1		1
Swimming		1	1						1
Tennis									0
Volleyball						1	1		1
Coaching Position Totals	0	2	2	0	0	3	3	0	5

Athletically Related Student Aid Academic Year 2021

	Men's Teams	Women's Teams	Total
Amount of Aid	\$1,248,146	\$709,748	\$1,957,894
Percent	64%	36%	100%

Athletic Recruiting Expenses Academic Year 2021

	Men's Teams	Women's Teams	Total
Recruiting Expenses	\$15,700	\$10,754	\$26,454
Percent	59%	41%	100%

Athletic Operating Expenses (Game Day Expenses) Academic Year 2021

		Men's Teams		١	Total		
Sport	Participants	Operating Expenses Per Participants	By Team	Participants	Operating Expenses Per Participants	By Team	Operating Expenses
Basketball	15	\$3,138	\$47,068	13	\$2,193	\$28,503	\$75,571
Football	118	\$330	\$38,984				\$38,984
Baseball	55	\$1,759	\$96,746				\$96,746
Cross Country				9	\$515	\$4,634	\$4,634
Golf	13	\$2,224	\$28,911	9	\$3,512	\$31,607	\$60,518
Softball				28	\$1,786	\$49,996	\$49,996
Swimming	27	\$919	\$24,800	15	\$1,191	\$17,860	\$42,660
Tennis				9	\$675	\$6,077	\$6,077
Volleyball				28	\$1,217	\$34,076	\$34,076
Total Operating Expenses Men's & Women's Teams	228		\$236,509	111		\$172,753	\$409,262

Athletic Total Expenses and Revenues Academic Year 2021

Creant		Expenses		Revenues			
Sport	Men's Teams	Women's Teams	Total	Men's Teams	Women's Teams	Total	
Basketball	\$417,673	\$350,071	\$767,744	\$417,673	\$350,071	\$767,744	
Football	\$1,232,682		\$1,232,682	\$1,232,682		\$1,232,682	
Baseball	\$414,765		\$414,765	\$414,765		\$414,765	
Cross Country		\$73,785	\$73,785		\$73,785	\$73,785	
Golf	\$127,896	\$148,837	\$276,733	\$127,896	\$148,837	\$276,733	
Softball		\$248,303	\$248,303		\$248,303	\$248,303	
Swimming	\$191,595	\$100,555	\$292,150	\$191,595	\$100,555	\$292,150	
Tennis		\$136,305	\$136,305		\$136,305	\$136,305	
Volleyball		\$273,763	\$273,763		\$273,763	\$273,763	
Total Operating Expenses Men's & Women's Teams	\$2,384,611	\$1,331,619	\$3,716,230	\$2,384,611	\$1,331,619	\$3,716,230	
Not Allocated by Gender/Sport			\$1,075,734			\$1,075,734	
Grand Total			\$4,791,964			\$4,791,964	